

Obrázkové hlavolamy 4.

$$\text{Vikar} + \text{Vikar} + \text{Vikar} = 60$$

$$\text{Vikar} + \text{Vikar} + \text{Vikar} = 30$$

$$\text{Vikar} + \text{Vikar} + \text{Vikar} = 28$$

$$\text{Vikar} - \text{Vikar} = 1$$

$$\text{Vikar} + \text{Vikar} : \text{Vikar} - \text{Vikar} = ?$$

$$\text{Rome} + \text{Rome} - \text{Rome} = 7$$

$$\text{Rome} + \text{Rome} + \text{Rome} = 18$$

$$\text{Rome} - \text{Rome} = 2$$

$$\text{Rome} : \text{Rome} = 3$$

$$\text{Rome} - \text{Rome} \cdot \text{Rome} : \text{Rome} = ?$$

$$\text{Green Dragon} - \text{Orange Dragon} = 1$$

$$\text{Red Dragon} - \text{Green Dragon} = 4$$

$$\text{Red Dragon} + \text{Red Dragon} + \text{Red Dragon} = 27$$

$$\text{Orange Dragon} + \text{Purple Dragon} \cdot \text{Purple Dragon} = 5$$

$$\text{Green Dragon} + \text{Orange Dragon} \cdot \text{Purple Dragon} - \text{Red Dragon} = ?$$

$$\text{Nefertiti} + \text{Nefertiti} = 10$$

$$\text{Sphinx} - \text{Nefertiti} = 1$$

$$\text{Nefertiti} + \text{Cat} \cdot \text{Nefertiti} = 20$$

$$\text{Nefertiti} \cdot \text{Sphinx} : \text{Cat} : \text{Nefertiti} = ?$$

Riešenie

- a) 3
- b) 4
- c) 0
- d) 2